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SOLUTIONS...

PUZZLE WORKSHEET:

What Did the Toothless Old Termite Say
When He Entered a Tavern ?
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WARM-UP: Graph the solution and state 2 possible solutions...
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Applications: Systems Involving Inequalities
STEP 1 - Declare Variables EXAMPLE #1:

State Restrictions To raise funds for /7- day, the PI Committee
has 500 T-shirts to sell.

STEP 2 - Create Linear Inequalities)

They have two varieties:

STEP 3 - Graph Solution Set #1.18 Sum 7' or #2.' - DAY 201%
STEP 4 - Answer question(s) ¥ /They expect to sell e as many }
the first as the second LFQ.‘W LR

a) Define the variables and restrictions. Write a system

M =2 ‘{ """\\"\ ofhnea;(mequa&tles(that models\t_?e Slfﬂtlon/,
D(\Q,\[W\(ﬂv)tfdlts 01 2 H”D{ofb?%e'\tﬂ sh hiek's
R o Vel wbly W e W

‘1 b) Graph the system of mequalltles
\(\ \'QU\ § on X ) e \a
eb\&b‘\)‘ L) ) 257; ¢ X\o\

& ’\A‘U\k v ) (
U WLV L OX
Q,jab ok T& ‘/i_;(‘; 02) ‘\

(s ﬁ’“) g >

7(+7:§o:> y:ozx

Xoiak A
X+0=500 ;
(50, [oa ] 29

w)
jo/J, Z§9°

(0.,502)
c) State a combination of T-shirt sales.
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Homework:

1) y=—=x-2
yz-S5x+2

September 15, 2016

~ Worksheet - Systems of Linear Inequations.docx
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4) x<-3
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y<—x+2
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6) 3x+2y=-2
x+2y<2
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Foundations of Math 11

Graphing Systems of Linear Inequalities

Sketch the solution to each system of inequalities.
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